Exam 1 Calc 3 9/26/2014
Each problem is worth 10 points. For full credit provide complete justification for your answers.

1. State the formal definition of the partial derivative of a function f(x, y) with respect to x.
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2. Find an equation for the plane tangent to z = x* + )* at the point (3,-2,13).
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lim Ad does not exist.
(x,9)—(0,0) x + 2y

3. Show that
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4. Suppose that wis a function of x, y, and z, each of which is a function of s and 7. Write the

Chain Rule formula for % . Make very clear which derivatives are partials.
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5. Letflx, )= xy* — . At the point (1,2),1n which direction is the directional derivative

greatest?
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6. Show that for any vectors a and b , the vectordaxb is perpendicular to &

%% 6[A+Pnf(/ucﬁ' o( 9\\)(’6"'(?‘5 —-O 1/@@» ")msr Z Ve DS

Lre ?ff{wé\uw&f ‘o ove arwther

I

-
> IS ’g--':r#x'»ff&Ac;O(Qf Yo )y -

~

ac <4’,al,ﬂ~5> 2 b= <b, /\91:&'33

N s
E\,‘,‘> o Jd
2= Jeceaey | {asbemach, ado. = 41
BB, Ly 03 T372.0405, 7 4y, 4 b =420 S
6\;(; ,"zvf‘plf‘)

(ZXL>- z = ﬁlbsgt,—

1 ] \
ﬁgblb, +&5\O,bl'ﬁlbgol 'f‘ﬁ,\bﬂ;g G, b, b
N
>°\Q = O -

/'"nu/w»é"ls
(RN N\ I -
oo vctes (Fxb )L | ogn fpir vacolay

_ e one avother

.

C e ‘I‘)



7. Biffis a calculus student at Enormous State University, and he’s having some trouble. Biff
says “Dude, this Calc 3 stuff is killing me. There was this problem on our first exam that
made totally no sense. See, there’s these graphs about pizza and cola, but there’s no formulas

at all. How the heck can you do math with just pictures?”

Explain clearly to Biff which graph matches with each description, and why.
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10. You like pizza and you like cola, Which of the graphs in Figure 11.38 represents you
happiness as a function of how many pizzas and how much cola you have if
(a) There is no such thing as too many pizzas and too much cola?
(b) There is such a thing as too many pizzas or too much cola?
(c) There is such a thing as too much cola but no such thing as too many pizzas?
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8. Find the maximum value of f{x, ) = x> + y subject to the constraint x* +)* = 9.
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9. A road is to be built from Monkeysaddle Pass up to the new Herron’s Roost Ski Resort. The
surface in this vicinity happens to exactly match the function f{x, y) = 0. 1(xy? — x*). Engineers
are trying to determine whether the road passing through the point (1,2) can go in the
direction (3,4). /
a) What is the slope of fat this point in this direction? ’UWW/ 2,, /4,}/}&5 :

b) In which direction(s), from this point, will the slope be exactly 0.1 (which, as a 10%

grade, represents the steepest road many vehicles can manage)‘7
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10. Find the maximum and minimum values of f(x,y) =

1+ x> +y*
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